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25 CO(g). H,(g). CH,OH(g) KR

29.04, 29.29, 51.25] « mol™! « K™, 25 °CH} & {1 B0 47 YEHE 4 81 %
1197.56, 130.57, 239.7] + mol™! « K™, 3R 150 °ChH} 2 ik PRI
CO(g)+2H, (g)—>CH,OH (g) Y b5 YEBE /R KL W 4% .

W ASZ(T)= > wSE(T) =82 (CHOH,T)—S82(CO,T)—25¢ (H,,T)
B

A.Sa (298. 15K) = (239. 7—197. 56— 2X130.57)] e mol ™' « K™} =—219.0J * mol™! « K~
ACym= Z 8Cp.m (B) =C,p,u (CH;OH) —C, . (CO) —2C,..(H,)

AL, mn=1(51.25—29.04—2X29.29)] * mol ™! + K"'=—36.37] * mol™! « K™!

ASn (T2) =052 (T1)+ j-rz A’%’“‘dT:A,.s,ﬁ (T)+B.Cpaln 72
T )

AS2 (423. 15K) = A8 (298. 15K) +A,C,..ln ggg }g

423. 15
298. 15

=—231.7] *mol « K™!

=( —219. 0—36. 37In J *mol - K™
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326 FETKEMESN 0C, WA, h=3333T ¢, AMKBLZERZS

A, (H0.1)=4184T ¢ K™ Fc, (H,0.5)=20001- g7 K~ . HRERMBEER—

HAFRDE kg, 25CHAKK 05ke, -L0CHIK. KRFAFITFEEE, SEMAS. .
T;=273.15K T,=263.15K T,=298.15K

m,c, (H,0, s)(273.15K — 263.15K) + m A

h>mc, (H,0,1)(273.15K — 298.15K)
0

WIGSTKAK IEA ey () My (1) » KEOCIKEA m,(s) » W
Q, =4H =m,(s)c,(s)(T, = T,)+[ m,(s) - m,(s) |A,.h+ m, (D, (T, —T,)=0

fus

500gx2.000J-g™' - K™ x(273.15K - 263.15K) +| 500g — m, (s) |x 333.3J - g

+1000gx4.184J - g - K" x(273.15K — 298.15K) =0
m,(s) = 216.17g

m=(500—-216.17) g =283.83 g
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326 FETIKMEAR 0C, WHEKBRA HN=33331 ¢, KMKHLEERESS
MAc,(H,0,1)=41841.¢" K™ e, (H,0,5)=2000]. ¢ K™ . HFREMIHAD—
HMABRTE 1kg, 25CHAK 05ke, -10CHIK. RRELEXFITFEEE, TEMHAS. |

IRSIKAKBIE A m (s) Fm (1) ,

m,(s) = 216.17g

m = (500 —216.17) g = 283.83 g

T mA, h T
AS=m1(s)Cp(s)lan + _I_f“s +m,(l)cp(l)ln_|_—f

S f 1

:[SOOxZ.OOOIn 273.15 283.83x333.3 273.15) e

+ +1000x4.1841n
263.15 273.15 298.15

=17.21J-K™




